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Subject: Lepcha Class: X Code-026
Time:3hrs. Marks:80

The question paper will be divided into four sections:

Section-A. Reading comprehension. 10
Section-B.I. Writing 10
II.Translation 04
Section-C.Applied Grammar. 12
Section-D.Literature. 44
80

Section-A.

L. GLH( (O0=03 BT~ (YOI BEIT6A ST 5. 2x5=10

A3 F0) (V3 7. éfsﬁ'o‘ CIE T (BY EJ)E»(@ 5&5{ &(é«\x\x G
%. e.»o( rsem @ emn«os)j 500 B) E(E. (S{?oa GOy BE6 (73«0
B ¥ 50 IO SBZ 5R) w1 I (Y 4B $50%. @ @7 & £
SENT & B0 6T BT «JG»( FORA £ (5 B (A & (@
AT (€ 2038 B0 () (B 36 @ B (T (Q GE* £)BI0) (D & $)0)

© Q3.

£, E)((50 S&E( 35 O B2
S/ X6 ¥ 50 30 orsz:o3):~ 3/3) (B (@2
WGIE /D) E.))O((ﬁ £) e35(R) 523 @) @2

TAOXE TN €35(R) GlEr E0BI0) (S @ Q@) (@2

DA 64 BT €3 @2

Section:B.

2.[i] CLH( (00003 I& EOTE( GXT 240 LE( «¢)(Fr 53.

BIE «V) (e SE( B(keA G €35%.



€
Q(k (G (5.

[ii] «F BSYE( %) 53, 04

India is a country where leading religions had their origin. It is a peace loving
country. It is the biggest democracy in the world. There are several achievements,
which put us for ahead of many other countries. We fail to judge it as the best
country in the world. For a child his own mother or father is the best person in the
world. So is the case with the country.
OR

If the country is to prosper and progress, there must be national integration. It is
necessary not only during foreign attacts but even in peaceful times. If there is
integration,there will be cooperation,which is the surest way to success. On every
side one can find divisive forces and anti social elements at work. These are all the
hand}/work of the enemy who is interested in destroying the nation.
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